I MEs-BR
ik [[IEC{0N] S
W | B WE (L) | WHOME) | EFEH%E &t it kil o
1 [BRSTHER AfFE | M7 | 3,580 66 S45.4.1 60 | 48 0 0 9.7 1.7 69.7 49.7 | 4
2 | BNIAHE M| BSE | 4,059] 38 $55.6.1 33| 21 0 0 5.7 1.2 38.7| 282 4
R #® 93| 75 0 0| 154 2.9 1084 | 77.9 0.0 0.0
1 |REHEE ZOfth | DF% 446| 16 H23.4.1 2 2 0 0 0.0 0.0 2.0 2.0
2 |BEaNEE M| Pk 450/ 10| S58.6.10 4 0 0 0 2.8 0.0 6.8 0.0
3 |BUERE Zoft | D% | 1,079] 27 H2.4.1 0 0 4 0 2.5 0.0 6.5 0.0 O
4| SV ERAE ZOfh | BF% 288 35| M9.11.22 1 1 3 1 0.0 0.0 4.0 2.0 7.0 7.0 O
5 | B LIRS ZOf | OF 360 24| H14.4.21 0 0 0 0 1.0 1.0 1.0 1.0
6 | LhEEH R Zoff| PRk | 1,085 22| S54.11.12 7 7 2 2 2.0 0.0 11.0 9.0
7 [fEHEEE s — | Zofh| DF 30 3 H13.4.1 0 0 0 0 0.0 0.0 0.0 0.0 2.0 1.0
8 |PERPERIFBE | Zoofh| BF% | 1,598 48 H14.4.1 8 2 0 0 0.8 0.8 8.8 2.8
LA 22| 12 9 3 9.1 1.8 401 | 168 9.0 8.0
1 |&V=FH 163 | 86 0 o| 178 19 180.8 | 939 Fok Aotk
1-1 | &g A | DR | 5,799 302 | H19.11.29 34| 18 0 0 5.3 2.7 39.3 | 20.7 [REZR ook otk
1-2 | dLidiFn AREE | ST | 3,015] 72| S49.1.11 17 8 0 0 0.8 0.0 17.8 8.0 =] ook otk
1-3 | Wi B | DR | 2,206] 144 H9.4.25 14 7 0 0 2.0 0.9 16.0 7.9 5] ook ok
1-4 | &M ES RIS 600 54 H28.1.4 0 0 0 0 0.0 0.0 0.0 0.0 =3 otk otk
1-5 | KE A DR | 4,084] 223 R1.5.7 0 0 0 0 0.0 0.0 0.0 0.0 == 51.6 358 O
1-6 | KEPEH AREE | BSZ | 3,499 79 $62.6.1 17 9 0 0 1.8 1.8 18.8 | 10.8 [lE=5) sk ook
1-7 | BEA AEE | DFER 570 12 H16.7.1 0 0 0 0 0.0 0.0 0.0 0.0 [E=g ol otk
1-8 | e AREE | DR 537| 11 H14.7.2 0 0 0 0 0.0 0.0 0.0 0.0 =] ook otk
1-9 | =HEofE S| DR 227 4 H12.5.6 0 0 0 0 0.0 0.0 0.0 0.0 [E=g ol otk
1-10 [#25F A | #SZ | 1,185 15 110.6.1 14 8 0 0 1.7 0.0 15.7 8.0 =] otk ok
1-11 | K'e sk AR | DFER 501| 11 H4.6.1 0 0 0 0 0.0 0.0 0.0 0.0 [E=g sofok otk
1-12 | &8 AREE | DR 365 15 H12.7.1 0 0 0 0 0.0 0.0 0.0 0.0 =] otk otk
1-13 | i # AREE | DFER 586 19 H18.5.1 0 0 0 0 0.0 0.0 0.0 0.0 =53 ol otk
1-14 | 5.5 A | MSZ | 2,487| 87| S56.12.8 16 8 0 0 1.1 0.0 17.1 8.0 =] otk ok
1-15 | 5-87 75 A | DFER 755 24| S61.4.15 0 0 0 0 0.0 0.0 0.0 0.0 [E=g sofok otk
1-16 | P4 i | BEE 537 10 H4.10.1 0 0 0 0 0.0 0.0 0.0 0.0 =] ook otk
1-17 | H# AREE | DFER | 1,0200 22 $53.5.1 13 8 0 0 1.8 0.0 14.8 8.0 [E=] ook ok
1-18 | HHIEUR N AREE | DR 594| 26 18.4.9 0 0 0 0 0.0 0.0 0.0 0.0 =] otk otk
1-19 |G AEE | DFER 423] 10 H10.4.7 0 0 0 0 0.0 0.0 0.0 0.0 [E=g Hokk sofok
1-20 | B¢ REE | DR | 2,976| 256 H17.7.5 14 8 0 0 1.6 1.6 15.6 9.6 =] otk otk
1-21 | RALRH S| DR 305 48 H19.4.1 0 0 0 0 0.0 0.0 0.0 0.0 =53 ol otk
1-22 |4k AREE | DR | 2,114) 134 H20.5.1 8 4 0 0 1.7 0.9 9.7 4.9 [E=) otk otk
1-23 [ AL | PFER 504 15 H12.7.1 0 0 0 0 0.0 0.0 0.0 0.0 =] ook sokok
1-24 | UGN A | PR | 1,296 78 H25.1.4 16 8 0 0 0.0 0.0 16.0 8.0 5] stk ook
1-25 | F 0 AEE | PRR% | 1,315] 20 $60.8.1 0 0 0 0 0.0 0.0 0.0 0.0 =] sofok otk
2 [LEW 14 7| of o sa 6.2 224 182 | 764] 295
2-1 | LR ARfE | IMSZ | 2,376] 161 $56.6.2 14 7 0 0 8.4 6.2 224 | 13.2 =) 33.9 18.5
2-2 | BRBI oyfE | R 242 18| HI8.1.17 0 0 0 0 0.0 0.0 0.0 0.0 =] 8.3 1.7
2-3 | KA e | DRk 479| 68 | H20.1.15 0 0 0 0 0.0 0.0 0.0 0.0 =] 9.0 2.8
2-4 |H# oyfE | R 164] 11| S62.5.19 0 0 0 0 0.0 0.0 0.0 0.0 =] 4.9 0.7
2-5 | )5 o | PR 391 38| S61.11.11 0 0 0 0 0.0 0.0 0.0 0.0 =] 4.5 1.8
2-6 |7=HiE7e oy | bR 284| 58| HI17.4.23 0 0 0 0 0.0 0.0 0.0 0.0 =] 4.4 0.9
2-7 | B3 o | PR 133 20| $60.5.13 0 0 0 0 0.0 0.0 0.0 0.0 =] 4.1 1.4
2-8 R oyfE | R 127 8| S63.5.10 0 0 0 0 0.0 0.0 0.0 0.0 =] 3.7 0.0
2-9 | KBA o | PR 197 12 H5.6.8 0 0 0 0 0.0 0.0 0.0 0.0 =] 3.6 1.8
3 |HBH 19 11| 11 2| 269 1.1 569 | 24.1
3-1 |[#ER A | MSNZ | 2,769 96 | S62.10.31 13 8 0 0 17.4 7.6 30.4 15.6 | &
3-2 |desrt oyfE | R 558| 44 H11.8.1 6 3 0 0 9.5 3.5 15.5 6.5 | 4
3-3 | HRARR A Zofth | BFEx 90| 10 S55.5.19 0 0 2 0 0.0 0.0 2.0 0.0 | 4
3-4 | P Zofl | DF 98 8 $59.5.1 0 0 2 1 0.0 0.0 2.0 10| 4
3-5 |MIEA Zofth | BFEx 80| 15 S62.5.1 0 0 2 1 0.0 0.0 2.0 1.0 | 4
3-6 | LT s Zofh | DR 85| 18 S51.6.1 0 0 3 0 0.0 0.0 3.0 0.0 | 4
3-7 [NEIAR Zofth | BFEx 98| 20 S58.5.1 0 0 2 0 0.0 0.0 2.0 0.0 | 4
4 | AR 1 4| 0 0| 221 44 33.1 8.4 423 31.3
4-1 | ARITHSE A | BFRR | 1,934 84 $60.4.11 11 4 0 0 22.1 4.4 33.1 8.4 | 4
4-2 |FERSY JyfE | ARNZ | 2,120 103 H5.5.8 0 0 0 0 0.0 0.0 0.0 0.0 [Eg 17.0 13.0] O
4-3 |10y oy | BFER 308 18 H6.7.14 0 0 0 0 0.0 0.0 0.0 0.0 =3 8.3 73] O
4-4 | FERSY oyt | DRk 896 44 | HI3.4.14 0 0 0 0 0.0 0.0 0.0 0.0 [Eg 17.0 1.o| O
5 (I ol o of of oo 00 00 oo [ st1] a1
5-1 |1l oyt | DRk 532| 37 $62.7.1 0 0 0 0 0.0 0.0 0.0 0.0 [Eg 115 73] O
5-2 |tk B | PRE% | 1,511 115 | S63.10.8 0 0 0 0 0.0 0.0 0.0 0.0 =3 25.9 148 O
5-3 |JIIMA oyt | DRk 238 20 HA4.8.1 0 0 0 0 0.0 0.0 0.0 0.0 [Eg 2.7 00| O
5-4 |3 H o | BFE 464 47| H31.4.16 0 0 0 0 0.0 0.0 0.0 0.0 =3 11.0 9.0 O
EEEL o o] of of oo] oo 00| oo [ 755 521
6-1 |Hi AREE | ST | 2,038] 146 $58.6.1 0 0 0 0 0.0 0.0 0.0 0.0 =] 41.9 309 O
6-2 | o | DRk 659| 45 $62.5.8 0 0 0 0 0.0 0.0 0.0 0.0 |5 13.4 83| O
6-3 |0 SyfE | DFE% | 1,740 170 | H22.11.1 0 0 0 0 0.0 0.0 0.0 0.0 =] 20.2 129 O
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ik [[IEC{0N] S

- @ﬁ B | BERO ) (BT | W OffT) s &t it kil o
7 |mAS 12 7 0 0| 321 8.6 44.1 156
7-1 |z Af | PR | 2,480 55| HI16.11.7 7 3 0 0 12.5 3.6 19.5 6.6 | 4E
-2 |Bive AEE | BFR% | 1,291 140 H16.4.8 2 2 0 0 6.1 0.0 8.1 2.0 | 4
7-3 |dL)a A | PR | 1,032) 119 | H16.12.14 1 1 0 0 5.9 1.4 6.9 2.4 | 4B
-4 | BB RAE | BSZ | 1,672 132 | H16.3.14 2 1 0 0 7.6 3.6 9.6 4.6 | ME
8 (o 51| 28 0 0 0.8 0.0 51.8 | 280 129.8 67.0
8-1 | AREE | PR | 6,940 510 H18.7.1 36| 21 0 0 0.8 0.0 36.8 | 21.0 [NE=] 53.5 19.9
8-2 |miJll AfE | PR | 3,096) 120 R3.4.8 3 2 0 0 0.0 0.0 3.0 2.0 [E=g 16.0 9.4
8-3 |k LSRR 978| 57 $55.5.1 3 1 0 0 0.0 0.0 3.0 1.0 =) 8.1 5.1
8-4 | BRHAR K| BFE% | 1,940] 54| S$55.8.20 3 2 0 0 0.0 0.0 3.0 2.0 [E=g 10.9 6.1
8-5 | AREE | PR | 1,910] 86 H4.11.1 3 1 0 0 0.0 0.0 3.0 1.0 =) 17.4 10.2
86 My AME | MRS | 1,772] 101 $58.3.25 3 1 0 0 0.0 0.0 3.0 1.0 =g 14.8 10.2
8-7 |2 iR | BFR 457| 42| H20.11.1 0 0 0 0 0.0 0.0 0.0 0.0 =] 4.3 3.4
8-8 | ¥t ZOft | DF% 39 0 HI1.11.1 0 0 0 0 0.0 0.0 0.0 0.0 [E=g 2.4 1.3
8-9 |MiMr A ZOfth | Bk 59 0 S51.6.1 0 0 0 0 0.0 0.0 0.0 0.0 =] 2.4 1.4
9 [N 47| 22 o| of 18 00 488 220 | ms[ 115
9-1 | AREE | PR | 5,931 152 | $59.10.31 23 8 0 0 1.5 0.0 24.5 8.0 [E=] 11.8 4.3
9-2 |/ oy | OF% | 2,069] 18 H14.4.1 8 3 0 0 0.0 0.0 8.0 3.0 [Es] 11.8 0.9
9-3 |JIBERE N SyBE | PRE% | 1,316] 14 | HI4.7.21 8 6 0 0 0.3 0.0 8.3 6.0 =] 12.0 5.3
9-4 | FEbE ofE | PFE% | 1,236) 65 120.5.1 8 5 0 0 0.0 0.0 8.0 5.0 5] 9.2 1.0
10 [dL&H o] of of of oo] o0 00| oo [ sos| 200
10-1 | d1 5 AfE | PFE% | 1,224] 83| S59.4.22 0 0 0 0 0.0 0.0 0.0 0.0 =53 19.7 1o O
10-2 |28 A | DR 500| 19| H26.11.1 0 0 0 0 0.0 0.0 0.0 0.0 =3 11.2 9.0 O
1 |fTETH AfE | BFE% | 2081 105 H15.5.1 5 0 0 0| 186 134 236 | 134 | #E
12 |AEM 0 0 0 0 0.0 0.0 0.0 0.0 50.5 37.8
12-1 e ARfE | MSZ | 1,283] 54| $62.10.20 0 0 0 0 0.0 0.0 0.0 0.0 [E=g 14.6 95| O
12-2 | B JyBE | PR | 1,003] 120 H10.6.1 0 0 0 0 0.0 0.0 0.0 0.0 =3 11.2 83| O
12-3 |ZEAGSC e | PRk 257 24 H6.11.7 0 0 0 0 0.0 0.0 0.0 0.0 =53 9.9 731 O
12-4 | B= SyfE | PRE% | 1,121 67 | H9.10.28 0 0 0 0 0.0 0.0 0.0 0.0 =3 14.8 127 O
12-5 | AF =3 ZOf | DFRE 78 8 H8.5.2 0 0 0 0 0.0 0.0 0.0 0.0 | 4
12-6 [THA=a32 At | PR 790 12 H13.8.1 0 0 0 0 0.0 0.0 0.0 0.0 | &
12-7 | T3 Zofth | DfEx 67 4 H3.4.1 0 0 0 0 0.0 0.0 0.0 0.0 | £
13 [MR&™H 4 2 8 0 5.0 1.0 17.0 30 52.7 13.0
13-1 | &4 AfE | PFE% | 4,990 48|  S54.11.1 4 2 3 0 5.0 1.0 12.0 3.0 5] 16.3 5.0
13-2 | W AREE | ST | 1,238| 100 H3.7.21 0 0 0 0 0.0 0.0 0.0 0.0 =] 15.0 3.0
13-3 [ KH AL | PFER 657| 43 | HI7.11.1 0 0 0 0 0.0 0.0 0.0 0.0 =) 10.7 4.0
13-4 |LF A | DR 872 26 H8.4.1 0 0 0 0 0.0 0.0 0.0 0.0 =] 10.7 1.0
13-5 [REABRAT Y= o | PR 62 0 H18.7.1 0 0 5 0 0.0 0.0 5.0 0.0 =) 0.0 0.0
14 |HBEH ol ol of of oo oo 00| oo | a70] 289
14-1 |HBHL g AfE | PFR% | 1,070 97 | H22.7.17 0 0 0 0 0.0 0.0 0.0 0.0 =3 25.0 158 O
14-2 |k | AREE | DERR 803| 86 H25.7.3 0 0 0 0 0.0 0.0 0.0 0.0 =3 14.5 81| O
14-3 (1[5 AMfE | AL | 1,010 40 | H5.12.22 0 0 0 0 0.0 0.0 0.0 0.0 =3 7.5 50| O
15 |MATH 20 8 0 0| 187 15.6 387 | 236 ook ok
15-1 [BEAR i AfF | MNZ | 3,235 147 S58.4.1 20 8 0 0 18.7 15.6 38.7 23.6 | 4
15-2 |4k ZOf| BE 315 19| S63.11.1 0 0 0 0 0.0 0.0 0.0 0.0 =] otk i e)
15-3 |RE Zofh| Pk | 2,302| 133 H26.9.1 0 0 0 0 0.0 0.0 0.0 0.0 =3 ook skl O
154 | g ZOM | DFR 788| 65 H24.6.1 0 0 0 0 0.0 0.0 0.0 0.0 =] otk i e)
16 |{RFET™ 1 4 3 0 938 2.7 238 6.7
16-1 [B i M| ANz | 2,707 28 $59.7.1 11 4 0 0 9.2 2.7 20.2 6.7 |
16-2 |Bs =5 SrfE | DFRR 160 6 H3.7.2 0 0 0 0 0.2 0.0 0.2 0.0 | 4
16-3 | KF 5y oy | bR 140 6 H9.4.1 0 0 3 0 0.2 0.0 3.2 0.0 | &
16-4 |32 Zofth | BFEx 108 6| S62.10.18 0 0 0 0 0.2 0.0 0.2 0.0 | 4
17 |£FH 0 0 0 0 0.0 0.0 0.0 0.0 13.0 9.0
17-1 [Pl AAE | BSE | 1,460 54 S57.7.1 0 0 0 0 0.0 0.0 0.0 0.0 =3 11.0 80| O
17-2 | &AM orfE | DFRR 557| 22 | H27.2.12 0 0 0 0 0.0 0.0 0.0 0.0 2.0 Lo O
18 [Pl 19 9 0 o| 207 7.7 397 | 167 135 11.6
18-1 | Ly g A | PR | 4,693) 56 $63.7.3 19 9 0 0| 207 7.7 39.7 16.7 | 4%
18-2 | Bl oy | BFER 987| 21 H5.7.15 0 0 0 0 0.0 0.0 0.0 0.0 13.5 11.6| O
19 |EART 9 7 4 2| 241 14.4 371 | 234 9.6 1.1
19-1 W11 AAE | ASE | 2,326] 97 H4.3.13 6 5 0 of 138 6.7 198 | 117 4
19-2 WALl A | PR | 1,034] 65 H15.4.1 3 2 4 2 10.3 7.7 17.3 1.7 | &
19-3 |72 M| DFRE 90 7] $52.9.26 0 0 0 0 0.0 0.0 0.0 0.0 =3 4.0 0.0 O
19-4 | 055 0 ZOfth | PFa% 180 8| $59.7.10 0 0 0 0 0.0 0.0 0.0 0.0 5.6 L1 O
20 |AE® g | GERX | 1.810| 96 | H30.10.1 4 1 2| of 140 4.7 20.0 57| &
21 |EmH AfE | GFE% | 4804 207 H12.4.1 59 | 44 0 0 1.0 1 60.0 | 450 | #fE
22 | B 6 4 3 0| 132 1.7 222 5.7 13 0.0
22-1 | M| MSZ | 3,822 83|  S6L.1L.1 6 4 0 0 9.1 1.7 15.1 5.7 | &
22-2 | &M SrfE | DRk 219 12 H7.4.1 0 0 1 0 2.0 0.0 3.0 0.0 | 4
22-3 | K oyl | DFx 116 8| H30.3.12 0 0 1 0 0.0 0.0 1.0 0.0 | 48
22-4 | 7)1 A | DR 472| 10| H16.3.24 0 0 1 0 2.1 0.0 3.1 0.0 =] 1.3 0.0

-17 -




I MEs-BR
ik [[IEC{0N] JHEE

- @45 B | BERO WE (L) | WHOME) | EFEH%E At it kil o
23 &R W 0 0 0 0 0.0 0.0 0.0 0.0 334 25.6
23-1 | il b g M| BRSZ | 4,255 50 H8.10.1 0 0 0 0 0.0 0.0 0.0 0.0 |5 33.4 256 O
23-2 | W5y iR | DR 64 0 $62.4.1 0 0 0 0 0.0 0.0 0.0 0.0 =] kel O
23-3 | P65y i | DRk 227 5| H14.12.7 0 0 0 0 0.0 0.0 0.0 0.0 == LI (73 O
23-4 | M5y oyfE | DRk 149 0 $60.4.1 0 0 0 0 0.0 0.0 0.0 0.0 =] LIRS 573 (@]
23-5 |4b5y i | DRk 54 0 $61.6.1 0 0 0 0 0.0 0.0 0.0 0.0 == LI (73 O
23-6 | & W5y iR | BFR 160 0] $62.6.28 0 0 0 0 0.0 0.0 0.0 0.0 =3 kL O
237 | KHG5Y o | DRk 199 0 H3.7.17 0 0 0 0 0.0 0.0 0.0 0.0 == LI (73 O
24 |FRiR™ 23| 11 0 o 178 8.9 408 | 199 748 63.1
24-1 | AR B | WL | 3,579] 225 $55.5.8 23| 11 0 of 17.8 8.9 408 | 199 | &
24-2 | RSy SyBE | DR | 2,336 224 H22.4.1 0 0 0 0 0.0 0.0 0.0 0.0 =3 18.0 152 O
24-3 | RISy SyfE | AR 724 18 $59.5.8 0 0 0 0 0.0 0.0 0.0 0.0 [E=g 8.4 711 O
24-4 | BRI 25y iR | BFR 498| 20| $59.6.12 0 0 0 0 0.0 0.0 0.0 0.0 =3 10.6 95| O
24-5 | E 5y oyl | DF 337| 18| $62.7.10 0 0 0 0 0.0 0.0 0.0 0.0 [E=g 6.6 56| O
24-6 | B0y iR | BFR 234| 16| $63.11.4 0 0 0 0 0.0 0.0 0.0 0.0 =3 7.9 56| O
24-T | WSy ot | DRk 389 18 H4.5.12 0 0 0 0 0.0 0.0 0.0 0.0 == 6.8 55| O
24-8 | BTGy iR | BFER 844| 89 H24.4.1 0 0 0 0 0.0 0.0 0.0 0.0 =3 16.5 146 | O
25 |[FEMW o of of of o0 00 00| oo [ e8] 441
25-1 |t AREE | PRE% | 3,611 130 | S58.11.1 0 0 0 0 0.0 0.0 0.0 0.0 =3 42.4 298| O
25-2 | EJTHISy e | PRk 542| 14 H27.9.1 0 0 0 0 0.0 0.0 0.0 0.0 =53 13.6 871 O
25-3 | N4y oyfE | P 42 0 $58.4.1 0 0 0 0 0.0 0.0 0.0 0.0 =3 1.7 Lif O
25-4 | KAy S| DR 99 0 $58.4.1 0 0 0 0 0.0 0.0 0.0 0.0 =53 2.4 L7 O
25-5 | T % oyfE | P 99 0| S61.8.10 0 0 0 0 0.0 0.0 0.0 0.0 =3 2.4 06| O
25-6 | FHAKIRMRAT | Zofh | Pk 22 0| H22.6.30 0 0 0 0 0.0 0.0 0.0 0.0 [E=g 3.3 22| O
26 |$FEETH 12 7 0 0| 163 0.0 28.3 7.0 16.0 9.0
261 | )AL o AfFE | BFR% | 1,497 60 $54.6.1 12 7 0 0 16.3 0.0 28.3 7.0 |
26-2 |f@MEDHL AREE | DRRR | 1,213 62 H5.7.1 0 0 0 0 0.0 0.0 0.0 0.0 =3 16.0 9.0 O
27 |HEAT™ AfE | 3 | 3027| 118 | H10.11.20 5 2 1 1 116 8.3 176 | 113
28 [F&EM A | fF& | 2072 48 S61.8.1 4 2 0 0 1.6 0.0 5.6 2.0 B} 9.3 4.7
29 |fREETH 1 5 2 o 138 3.2 26.8 8.2
29-1 |fRAETHSE AR | A7 | 2,712] 174 H25.7.1 11 5 2 0 11.7 3.2 24.7 8.2 |
29-2 |28 SRS 634 32 H9.7.13 0 0 0 0 2.1 0.0 2.1 0.0 | 4
30 [T 16 5 0 0 0.0 0.0 16.0 5.0 25.1 215
30-1 | HUkA LT N ARfE | BSZ | 5,206 176 H2.4.17 13 4 0 0 0.0 0.0 13.0 4.0 [E=] 18.0 14.9
30-2 | iR A | ST 985 18 H5.6.6 3 1 0 0 0.0 0.0 3.0 1.0 =) 7.1 6.6
30-3 |72L AL Zofth | Piax 12| 12| H6.10.18 0 0 0 0 0.0 0.0 0.0 0.0 =] N EHS
31 |Bm™ AfE | ff3% | 2684 16 H1.8.12 3 1 0 0 1.3 13 43 2.3 [} 19.7 13.0
32 |BRaH 6/ 2| o| of 12 12 12] 32| | 308 6.8
32-1 | RAR TN A | MSZ | 2,291 90 | H2.11.23 6 2 0 0 1.2 1.2 7.2 3.2 ) 10.1 2.9
32-2 | B4 o | PR 303| 36 H31.4.1 0 0 0 0 0.0 0.0 0.0 0.0 =] 5.9 1.9
32-3 | il oy | bR 364| 20| RIL.10.21 0 0 0 0 0.0 0.0 0.0 0.0 =] 4.6 0.6
324 |JIIA e | DRk 377 15 R6.4.1 0 0 0 0 0.0 0.0 0.0 0.0 =] 5.8 0.8
32-5 [fEREZED OyfE | ST 499 21| HI17.3.27 0 0 0 0 0.0 0.0 0.0 0.0 =] 4.4 0.6
33 |EtRH 49| 33| o| of o0 00 486 325 | 486] 225
33-1 |E LR AREE | OFRR | 4,464| 194 H6.10.1 31| 21 0 0 0 0.0 310 | 210 5] 31.0 210 O
33-2 | 5U A8 o | PR 257 17 H14.6.1 8 5 0 0 0 0.0 7.9 5.2 [E=] 7.9 52| O
33-3 | AT oyfE | R 428 8 H21.4.1 10 6 0 0 0 0.0 9.7 6.3 =] 9.7 63| O
33-4 KB H Zofh | DR 36 6 H3.6.4 0 0 0 0 0 0.0 0.0 0.0 =] kL e O
34 |sLHHH o o of of oo o0 00| oo | ess| 555
34-1 | LA AfE | AN | 2,772) 90 H6.9.4 0 0 0 0 0.0 0.0 0.0 0.0 =3 41.1 3.0 O
34-2 | K AREE | OFRR | 1,197 68 R5.11.3 0 0 0 0 0.0 0.0 0.0 0.0 =3 28.7 245 O
35 |AEMW 17 6| of of 49 17 29| 71| | 0.8 00
35-1 | AE KA | MNZ | 2,779] 194 | S56.11.10 12 5 0 0 3.9 1.7 15.9 6.7 3 0.6 0.0
35-2 |IE SrfE | DFRR 409 39| H7.10.11 5 1 0 0 1.0 0.0 6.0 1.0 | 4
36 |=#hH 16| 12 0 0| 260 5.2 420 | 172 333 0.0
36-1 | = 4Kt~z EN G 311 30 H26.6.1 5 3 0 0 6.8 0.9 11.8 3.9 | 4
36-2 | AR A | AN | 1,617 73 $62.9.1 6 4 0 0 9.8 1.2 15.8 5.2 | #&
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